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2017
SURVEYING - 11

fraifte gaadia W) (e 370

Time allowed : Three Hours] [Maximum Marks : 70

Pz (i) FemyeTIAard 8 593 @ e vl & Iw ffad

Note : Question No. 1 is compulsory, answer any FIVE gquestions from the remaining.

(ii) N F¥T & GH YT 1 FHAR T Gre & FHilad |

Solve all parts of a question consecutively together.
(iii) ¥e9% §97 1 79 §8 & T 1% /
Start each question on fresh page.
(iv) 2T NTansT § o= &7 @ 1Rufa & 3t srgarg @ = &

Only English version is valid in case of difference in both the languages.

1. () T e et S ga A aw i R ?
Why it is necessary to read both verniers in theodolite ?
(i) Prirereree ATeE @Y I THR H THITEA |
Explain the theodolite traversing and its types.
(i) T3 affRufrgl 3 fpandiet ade wreig waT R ¢
In what circumstances tacheometric surveying is advantageous ?
(iv) Tehdl 39 T Tehal B o HEY TR |
Explain the relation between degree of curve and radius of curvature.
(v) orRie gh am faf = wwee |

Explain the Electronic Distance Measuring (EDM) method. (2x5)
(10f4) P.T.O.
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2.

P

Rrreiemse 1 W= fom T v 3uss faft vt 3 st & av iR

Draw a neat sketch of theodolite and describe the functions of its various parts. (4+8)

419 wroft # T qem@T ABCDA i t@nait i a3 g few gu &, fywsl DA i
wraTd § feprm amma & | e DA Y wend 3 fepn s AR

W | o (m) fegam
AB 75.50 30° 24
BC 180.50 110° 36
CD 60.25 210° 30"
DA ? ?

The table below gives the lengths and bearings of the lines of a traverse ABCDA, the
length and bearing of line DA having been omitted. Calculate the length and bearing

of the line DA. (12)
Line Length (m) Bearing
AB 75.50 30° 24'
BC 180.50 110° 36'
CD 60.25 210° 30’
DA ? ?

T Rl RYA A A St T w e dgm e ma €
®IA T RIA T B ™ 9Igais (HiX) " fromh

A B.M °18 3.225, 3.550, 3.875 ™ i
M. -2° 18 225, 3.550, 3. N S
B +8° 36' 1.650, 2,515, 3.380 =437.655 m

f Iuw F fRAIF100 7 0.4 €, A A 9 B ¥ = &fw gt 9 B =1 awrlia a@
IR |

A tacheometer was set-up at station A and the following readings were obtained on a
staff held vertical :

Station | Staff Station | Vertical Angle | Hair Readings (metre) Remarks

A B.M. -2°18' 3.225, 3.550, 3.875 R.L. of B.M.

B +8° 34 1.650, 2.515, 3.380 =437.655m

Calculate the horizontal distance between A to B and R.L. of B, if the constants of the
instrument were 100 and 0.4. (12)
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5.

~

T MR & 200 m N gH W ReiEemse vl fEm mr | fam & A w5 oawm s
__8° 18'T I0% T H1 A HIUI2° 24' W17 AT | G Y Qe g FAfed |-
mqmm 1.286 m TR T | AfE AARRIET F GUTE 99 248,362 m B, A AR A FuH I
Iqe 3 &1 emrita at e iR |

A theodolite was set-up at a distance of 200 m from a tower. The angle of elevation to
the top of the tower was 8° 18' while the angle of depression to the foot of the tower
was 2° 24'. The staff reading on the B.M. of R.L. 248.362 m with the telescope

horizontal was 1.286 m. Find the height of the tower and the R.L. of the top of the
tower. (12)

(i) mﬁmﬁﬁmm@ﬁaﬁmﬁmam@ﬁﬁxﬁ
T |

Explain the method of reiteration of measuring horizontal angle with the help of
theodolite.

Gi) & 8 i & fons v we N it : aagm |

Explain how would you obtain in field the constants of a tacheometer. (8+4)

2 weh whrede fg W 127° 30' 1 0 w1 g v § 1 Q wasnadt B frem %
for @ 300 i Frswn I v T fore &l et w0 | 3l TF e |
YA 1 B A e den Hig | afe wfasd firg 6 st gt 40 e @ qun(side
1 TwaTg 20 e R |

Two roads meet at angle of 127° 30" Calculate the necessary data for setting out a
curve of 300 m radius to connect the two straights portions of the road if a theodolite is
available. If chainage of the point of intersection of the tangents is 40 chain, and length
of chain is of 20 m. (12)

= w wiie feafrt fafed
Write short notes on the following :
(i) Gur G
Tunnel alignment
(i) TEHHYT T3 & 3LV
Objectives of transition curve
(iii) A RYH
Total station (dx3)
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